Let's take it up a notch... for each, write the angle 2. /

relationship you see in the picture and a >
statement of whether the angles are equal or add 1
to 180°. o
1. This one is done for you so you know what to o 2/
do.

> 7
> 2 4,

/ o 1
Alternate interior, mszl=ms2 o 2/

3.* /1

> 1

Great job!!
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On these state the angle relationship, write a
statement about whether they add to 180° or are
equal, and solve for x if necessary.

1. This one is done for you so you know what to
do.

46°

Y

Alternate interior

46°=X

\111°

.
L —
>

175°

>

107

37°

[

26°

Bubble all the correct answers from above. Don't bubble incorrect answers.

O37° 0143 069 @46 O175°O122°Os58° O68° O154° O26° O64° O112° Or5°

O111°



Don't worry about these, they are just rotated. 9.
8.
X
X 83°
31°
10. 11.
X/ >
— [113° 126° /
- /x
(O
13.
12.
119°
132° X
X
15.
14.
. 96° I .
| N
> X
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Bubble all the correct answers from above. Don't bubble incorrect answers.

O31° O132° O54° O96° O159° O122° 083> O119° Q154 O113° Q67° (O52° Q58 (O126°



On these state the angle relationship, write a 17.
statement about whether they add to 180° or are
equal, and find the value of x.
16. Alternate exterior | = *t3° -~
2X+1$/X+/230 2X+1QO=X+23°
-X -X
X+19°=23°
(I ~19°-19°
X=4°
19.
7x+42°\
> X-24°
18.
x+34°
2x-12°
21.
—
\O
+
>
&
(9N
+
20. s
S
3x+21°K%+57 22.
_gx+52°l
,3x-35° ,
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Bubble all the correct answers from above. Don't bubble incorrect answers.

O72c @4 Q120 O46° O18° Qe64° O54° Q420 0300 O48° O97° (O28° Q87 (O83°



x+27 52170

"

xX+79°

2x-37°

2x+5°
x+59°

n

x+17°

77

&)
o
&

24.

. KIZS"
o \4—54"

26.

?x+71°/

==5x+37°l

28.

x+64°
3x-26°

30.

+97° x+32°
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Bubble all the correct answers from above. Don't bubble incorrect answers.

O31° O116° Q200 O17° O54° 098> O51.5°045° Q600 O725°0Q65 O44° (O30.5°(024°



Mark the diagram with the given information,
state the angle relationship, and then solve for
the indicated angle.

31.m£ACB is 68° Find the m£EFC.

B
A»68°\C
o
"

F
H

D Corvesponding

G mzACB=m<EFC
68°=mcEFC

33. m£EFB=91° Find m«DCH.

A
G

-

35.m<GEH=47° Find m«BEF.

32. m«£DCH=85° Find m«BFE.

34. m£HFG=103° Find m«BCD.

G A
B
H—TF  |C
¢ 1
E D

36. m«£DCH=63° Find mzACH.
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Bubble all the correct answers from above. Don't bubble incorrect answers.

Q1122 Q95° Qo1 QOs89° Qa7

O103°

QOe3° Oe6s°

O77e



37. mzACH=X+24°, m«DCH=X-8° Find m«ACH.

2X=164°
2 2
X=82°

D msACH=x+24°
MLACH=82+24°
G mzACH=106°

Linear Pair
MLACH+m2DCH=180°
(X+24°)+(x-8°)=180°
X+24°+X-8°=180

2x+16°=180°
-16° -16°

39. m£EFH=2X-142°, m£ACH=X+16°. Find
m«ACH.

41. mzBCD=X+26° mz£BFG=2X-24°. Find
m<«£BFG.

38. mzACB=2X-45°, mzHFG=X+23°. Find
m2HFG.

A

40. m£GFB=x+32°, mzDCH=X+24°. Find
m«DCH.

42. m£ADF=2X+4°, m£HEC=4X-14°. Find
m«HEC.

A B
C
~D
~_|E
\F
'y ]
G H
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Bubble all the correct answers from above. Don't bubble incorrect answers.

O76c Q1100 Qo9rc O94 Q106°

097°

O22° O165° (QOse6° O92°



